@ Bonfiglioli

14.7 DIENSIONS

25AH ... 80A

305 N5 56 305
I —— f
12 N3 12
6 6
% 100 %,
| —
\\‘t‘.\uq; -+ —{_L ¥9& &
w
3 1 1O s 9 8 8
9F M o EI @
| (Tl ¢le
Ij ) I
T
56
{ —a
1 FAY
-
el =
|| © © -
© ©
v KR 010 1.2
34
b {5 N N1 N2 | N3 | N4 | N5 | Lmax
&
min | max
25AH | 6 635 7 8 9 952 - - - — — | 25 | 39| 56
26AH | 6 635 7 8 9 952 - - - - — | 26 | 39| 56
28AH | 6 635 7 8 9 952 - - - - — | 28 | 39| 56
30AH | 6 635 7 8 9 952 - - — — — | 30 | 39| 56
32AH | 6 635 7 8 9 952 - - - - —| 32 |39 5 65 | 35 45 25 | 25
3AH | 6 635 7 8 9 952 - - — — — | 34 | 40 | 56
36AH | 6 635 7 8 9 952 - - - - — | 36 | 42| 56
39AH |6 635 7 8 9 952 - - — — — | 39 | 45| 56
40AH | 6 635 7 8 9 952 - - — - | 40 | 46 | 56
38B 6 635 7 8 9 952 10 11 12 127 — | 38.1 66.6 60 3 | M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 3 | M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 | M4x10 | 18 | 25
50B 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 3 | M5x12 | 23 | 30
50BH | 6 635 7 8 9 952 10 11 12 127 14| 50 65 65 3 55 25 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 3 | M4x10 | 23 | 30
55MH | 6 635 7 8 9 952 10 11 12 127 - | 55 80 65 2 55 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 3 | M5x12 | 18 | 25
60A1 | 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 3 | M5x12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 3 | M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 | Mex15| 23 | 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 920 75 5 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 M 12 127 14| 73 98.4 85 3 | M5x12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 | Mex15| 23 | 30

Please contact us for different motor adapters and input shaft bore.

252



> Precision Planetary Gearboxes

KR 010... S KR 010... SF

109 100
65 44 15 70 15 6 64

0.5 i

I gy | i o / @
3 _ I 3 o 1 ‘ | o i l 38
S [STRENY ! L | 3 0
]ﬂj] =] Bl @ N

{_L%
(T
5

g1 cr
L

2
N

1 1 . 156
.}
KR 010...LP KR 010... LPF
12 44
43 44 6 @ 64
1| 25 35 5.5
. 20 25 4 h9 . 1 i
JD"_'_l_n:n_l_"DL i e
TT L . A ] ] S
i [BlAe (25 Lo i .5 @ g
o Hp i O
gl [ [ S| i S NS
uil g} M4x10 . &
L [12e i Ly‘b/
.}

KR 010... LD KR 010... LDF

138 44
44 44 6 @ 64
25 1 1 25 3.5 5.5
25 | 20 ; . 20 2.5 4h9 . 1 L
JD"__I_mn_I_"DL © Fliiioln &
_J ‘ L — *:::.T::d“* HIl
& 2.8 MRS 8 ©
& i I ﬂ [ : B E
¢ R = | (N N
1 r I ‘
\ <
bt =}
eIl i M4x10 T 1 5
L L1266 | Ly%"
|
FosZiiless 056

253



@ Bonfiglioli

40B1 ... 110B1

N5 61 38
N3 3.
,,7% .F |65 N4
AN
‘ 2 *ea& &
[ E
s e g8 L
> | 4 © /&\\;L /(f@\
%f i
69 @ N1
N2
?'@) ©
Y@\
| e\l ¢
© ©
18.5
7 KR020 | 2.6
(&5 N | N1 | N2 | N3 | N4 | N5 | Lmax
40B1 8 9 952 11 12 127 14 - - - = - 40 63 80 4 M4x10 | 34 40
45A 8 9 952 11 12 127 - - - - = - 45 63 80 4 M4x10 | 34 40
50B1 8 9 952 11 12 127 14 - - - = - 50 65 80 4 M5x16 | 34 40
50BH1 | 8 9 952 11 12 127 14 - - - = - 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 — — - - — 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 - - - = - 50 95 80 4 M6x10 | 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 55.5 |[125.7| 105 4 M6x16 | 34 40
60A2 8 9 952 11 12 127 14 - - - = - 60 75 80 4 M5x16 | 34 40
60AH2 | 8 9 952 11 12 127 14 - - - = - 60 75 90 4 5.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 | 34 40
60C1 8 9 952 11 12 127 14 15875 16 - — - 60 90 80 4 M5x16 | 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 | 34 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 — — — - - 73 | 984 | 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 | 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 | 100 4 M8x20 | 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 | 115 4 M8x20 | 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 4 M8x20 | 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 54 60

Please contact us for different motor adapters and input shaft bore.

254



255

KR 020... SF

> Precision Planetary Gearboxes

KR 020... S

Z90 LL LL z90
o o
- < - I <
: | <2 : | <2
= S 2 ol
o 8l | RLCAT] IR P=) 8l RN ]
(04 Q ] O [ Q O
X 2 o X 2 o
96 09 @ 9% 09 @
9% 09 @ .
. .
o ooy L CGINEAR
m\ \A\A II dmpm———n Jul A\ \: II Ampm———n Jul :\ \: II fepm———n
| e T RRLE T ST sy /[ 1 [ i
% © ” W fv 4\\\1.; ” | % © m | ; fv d\\\l” H © ” | ; f,r dwwwjﬁ
3 R o U NS © R R O
, ; F I o ”, i ! : ¥
” \ R i i L \ B
591 3
o ﬁ
N
D] 1T
<o 7l © 7l ©
7 2 © 2 ©
! ) - 5 -
| %),
. (A
w0 o]
R o] | 2] 2 N
I % %
o g g
mﬁm MGl o o o
~ Wwo
5.% & & {8
==l == o O pm of A=
2 Ll ) o8 L ) g L[]
w0 — | — P o} — 0 —
| 3 7
| 3
3 | = 7
@ || N L o L
J T I a 8 . ) [a) g tllele |}
> | | 2
© 5 Sa= = 2 B dd
i " T} I g " " 7
| . H
, o o
N N ] K
o o
14 14 0
50 Y X -



@ Bonfiglioli

50D ... 130A1

44.5 N5 81 44.5
A \
22 N3 22
% .F 1 %-7—@ 11 N4
= g |
¥ }{} -+ \ U\ 569& o
wJ -
e —HitHe I 38 o8
g( M S EI 3
ole (TLele
1 ‘ ] ! —
82 82 @ N1
89 N2
P}@ @@
= )i
R\SE)/A N
N
© ©
23.5
47 KR 030 4.6
D| : N | N1 | N2 | N3 N4 N5 | Lmax
50D 11 12 127 14 15 15875 16 19 - — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
55A 11 12 127 14 15 15875 16 19 - — | 555 [1257| 105 | 5 | Méx16 | 28 | 40
60A2 | 11 12 127 14 15 15875 16 19 — — | 60 | 75 | 100 | 5 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - — | 60 | 75 | 100 | 5 6.5 33 | 40
60B1 | 11 12 127 14 15 15875 16 19 - — | 60 | 85 | 100 | 6.5 | M5x14 | 28 | 40
70A1 | 11 12 127 14 15 15875 16 19 - - | 70 | 85 | 100 | 5 | Méx14 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - | 70 | 85 | 100 | 5 6 33 | 40
70B1 | 11 12 127 14 15 15875 16 19 - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 | 11 12 127 14 15 15875 16 19 - — | 80 | 100 | 100 | 5 | M6x16 | 28 | 40
80AH1| 11 12 127 14 15 15875 16 19 - — | 80 | 100 | 100 | 5 6.5 28 | 40
95A 11 12 127 14 15 15875 16 19 - — | 95 | 115 | 100 | 5 | M8x18 | 28 | 40
95A1 | 11 12 127 14 15 15875 16 19 22 24 | 95 | 115 | 100 | 5 | M8x18 | 38 | 50
95B 11 12 127 14 15 15875 16 19 - — | 95 | 130 | 115 | 5 | M8x18 | 28 | 40
1M10A | 11 12 127 14 15 15875 16 19 — — | 10 | 130 | 115 | 5 | M8x18 | 28 | 40
10A1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
10B | 11 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
10B1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A | 11 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 6.5 | M10x20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 6.5 | M10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

256




> Precision Planetary Gearboxes

KR 030...H KR 030... HF

130
65

7 @85
<20 5 6.5
M

|.20_
ﬁ;un_l_‘_"

6H8 N 2 L

=
T
i
|
i
i
N
|
_u
=4 -
T

1 [

(

I —
@70 g6
T
076

,,,,,,,,,,

KR 030... S KR 030... SF
160 150 65
95 65 25 100 25 7 285

s 5 6.5
mwu 5Nm T [ 2 e

2 64
|
—H |
=
9 50
22017
T L
N
Kl
T
@70 g6
T
076

222Gt

,,,,,,,,,,

KR 030...LP KR 030... LPF

164 65
63 65 7

@ 85

o i} M8x19 \["T*Er

22 k6 ! N Syl

,,,,,,,,,,

KR 030... LD KR 030... LDF

202 65
65 65 7

@ 85
6.5

,,,,,,

ﬁLﬁ
& E
é %
—
N
N
S\
(o))
z
245
L
i
141;1H4
-1
N
:

U In M8x19 et a0 >\

22 k6 ! T ey

—
©
&
=
\ )
—
@70 g6
T
76

,,,,,,,,,,

257



@ Bonfiglioli

KR 040

55A1 ... 180A1

N5 105

N3

[ %R ©
UJ -
s —HitHel i 38 5%
Q
s( M EI 5
o ¢
1 ] ‘
101 I N1
N2
(© ©)
B © / \ ©
i 7 ~
&) N
|| © %)
© ©
335 &
67 KR 040 12.8
D
( u! ~ N N1 N2 N3 N4 N5 Lmax
<
55A1 14 15.875 16 19 — — — 55.5 125.7 130 4 M6x15 39.5 50
80A2 14 15.875 16 19 - - - 80 100 130 4 M6x15 39.5 50
95A1 14 15.875 16 19 22 24 — 95 115 130 4 M8x20 39.5 50
110A1 14 15.875 16 19 22 24 - 110 130 130 4 M8x20 39.5 50
110B1 14 15.875 16 19 22 24 — 110 145 130 6.5 M8x20 49.5 60
114A 14 15.875 16 19 22 24 28 114.3 200 170 55 M12x25 69.5 80
130A 14 15.875 16 19 22 24 - 130 165 140 4 M10x20 39.5 50
130A1 14 15.875 16 19 22 24 28 130 165 140 4 M10x20 495 60
180A 14 15.875 16 19 22 24 28 180 215 190 5.5 M14x25 495 60
180A1 14 15.875 16 19 22 24 28 180 215 190 55 M14x25 69.5 80

Please contact us for different motor adapters and input shaft bore.

258




> Precision Planetary Gearboxes

KR 040

KR 040... H KR 040... HF
150 75
75 10
1.30_ 30| 5
(R 8rs =
i ===l - e
,,Jr,, 2 ) S S §
l N : H H Q g
| |28cr :::-\‘,::1:,~
KR 040... S KR 040... SF
185 174 75
110 75 35 104 35 10 3120
L2 M6 23 5 9
s P 12 Nm T L 0.5 L
=== I\ ==l ==
& _ 1 { I N gl I : [ A § . )
Q Q Q i i H Q O
il | = . . A\
27 o Sy =
& I 60
,,,,,, | L2
- o101
KR 040... LP KR 040... LPF
206 75
73 75 10 @120
2 58 5 9
j[f ; ‘ _D 50 4 10 hsm E:’:::‘ . 0.5 L
@ *:::1::11: S
T N ° L %I L iH =233, ;g, / =
L o] | =, :
28l I M12x28 ”diﬂari' \ =
32 6 ; Lyg/
Y D101
KR 040... LD KR 040... LDF
266 75
75 75 10 3120
58 2 2 58 5 9
4 50 ‘ D_ . ‘ _D 50 4 10 hem ff:{::j 0.5 = L
_J L e) *:::,T::a‘:*: 777777 o N/ N
“ e e % B i @ | &
A 0 2 0
]t M AR S NS
i o w128 o ;
3216 I8 Lyﬁ’/
1101

259



@ Bonfiglioli

14.7.1 GEARBOX WITHOUT MOTOR ADAPTER

FM

L3 L1
L2
B T =i=mm=p=
6o ||
1
5 8 | e -
i e
[ © )
a
s 9 oo F]
| == —
L4
D (\‘4(’ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5 ﬁ
6 635 7 325 | 50 | 425 |M4x8 | M4 | 28 | 135 | 3 | 85 | 8
8 9 952 10 | 325 | 50 | 425 | M4x8 | M4 | 28 | 135 | 3 | 85 | 9
KR 010 1.0
1 12 127 355 | 50 | 425 |M4x8 | M4 | 23 | 135 | 3 | 85 | 11
14 355 | 50 | 425 |M4x8 | M4 | 25 | 155 3 | 89 | 115
8 9 952 38 | 68 | 765 |M6x10| M6 | 363 | 263 | 95 | 188 | 105
1 12 127 43 | 68 | 765 |M6x10| M6 | 363 | 263 | 95 | 188 | 125
KR 020 2.0
14 15875 16 17 | 48 | 68 | 765 |M6x10| M6 | 36.3 | 263 | 95 | 188 | 145
19 19.05 51 | 68 | 765 |M6x10| M6 | 363 | 263 | 95 | 188 165
1" 12 12.7 43 90 98 M6x15 | M6 35 19.5 7.6 121 12.5
14 15 15.875 16 48 90 98 M6x15| M6 35 19.5 7.6 12.1 14.5
KR 030 35
19 51 | 90 | 98 |M6x15| M6 | 35 | 195 | 76 | 121 | 165
22 24 56.5 90 98 M6x15| M6 37 21.5 7.6 12.1 19
14 15875 16 48 | 113 | 1255 |M8x15| M6 | 46 | 275 | 6 | 20 | 145
19 51 113 125.5 | M8x15| M6 46 27.5 6 20 16.5
KR 040 10.0
2 24 565 | 113 | 1255 |M8x15| M6 | 475 | 29 | 6 | 20 | 19
28 67 | 113 | 1255 M8x15| M8 | 475 | 29 | 6 | 20 | 225

260



14.7.2 MACHINE SHAFT

> Precision Planetary Gearboxes

Shaft of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to
consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).
The number and size of relative tapped holes at shaft end depend on application requirements.

B
B1 B2
Rmax S
08 0.8 7\‘1 5°
H - o © <
< g ;) 2 CP 3
D J C C E
A1 A2 A3 Ad B B1 B2 C D E Rmax S
UNI 6604
=26 18 h7 17 18 h7 129 18 90 32 2 2 0.5 6x6x25 A
236 | 28h7 27 28 h7 149 28 90 50 2 2 0.5 8x7x35 A

NB: The choice of driven shaft with a UNI 6604 key as described introduces increased backlash into the application compared to that
achieved by a configuration with just the gearbox (¥s < 8’).

B
B1 B2
Rmax S
08 08 7\1L5°
S - I ) <
< < < X
A1 A2 A3 A4 B B1 B2 Rmax S
KR 010 215 11 h7 9.5 10 h6 99 13 70 0.5
KR 020 220 16 h7 14.5 15 h6 122 18 83 0.2
KR 030 > 30 22 h7 19.5 20 h6 149 23 100 0.5
KR 040 240 32 h7 29.5 30 h6 173 33 104 0.5

261





